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FILL IN YOUR DETAILS
Turn to your ANSWER SHEET and fill in your name, school, grade, section, today’s date,

International your date of birth and gender.

Benchmark ANSWERING QUESTIONS

Tests In Engllsh Go to the MATHEMATICS ANSWER SHEET.

Mathematlcs This test has 40 QUESTIONS. Each question has four possible options.
Choose the BEST answer from the four options, A, B, C or D.

& SCIE“CE FILL in ONE circle on your answer sheet with a pencil.

If you make a mistake, erase the pencil mark and fill in a different circle.
You must colour the entire circle as shown below:

Correct response Incorrect responses
Line Very light pencil Pen Colored pencil

Marks are NOT deducted for incorrect answers.

(%

EQUIPMENT ALLOWED INTHIS TEST
You may use a 2B or B pencil for this test. You may NOT use a calculator for this test.

TIME ALLOWED FORTEST
The time allowed to complete this test is 60 minutes.

h h
R AICIE[R
Copyright © 2016 Australian Council for Educational Research & Copyright © 2016 Australian Council for Educational Research A C E




T \

In 5 steps a boy moved a total distance of 280 cm.
What is the boy’s average (mean) step length?

A 28 cm
B 56 cm
C 60 cm
D 270cm

E Four angles are marked on the bicycle.

Which angle is the largest?

A angle
B angle2
C angle3
D angle4

This page has been deliberately left blank.
B On which number line does the dot show the largest number?

A —+—F+—+—+—+—+—

0 1.25
B +— f f f | *—
0 0.5
C —t—o— I S T
0 1
25
D : | te! | |
0 1
17
n. -
478"
a3y 4 N3 e
12 8 8 4
A =] C D

R

Copyright © 2016 Australian Council for Educational Research

®

P .
15/

Grade 6 Mathematics 2016 Grade 6 Mathematics 2016 Copyright © 2016 Australian Council for Educational Research



i

m The map shows some important landmarks in Washington DC.

K St

1-395

—» =

23RD St
3RD St

" Constitution Ave
MalllMuseumss j

Independence Ave

7TH St

1-395

,"

Which landmark is south of Constitution Avenue and west of 3RD St?

A White House
B Downtown

C Capitol Hill

D Mall Museums

B The average (mean) height of these flowers is 1.2 m.

1.1m

The shortest flower is removed.
What is the effect on the average height of the remaining flowers?

A the average height increases

B the average height stays the same as before
C the average height decreases

D the average height cannot be predicted

ﬂ This table shows the cost of hiring different vehicles.

Maximum number
Vehicle of people allowed $ per day
Small 2 50
Medium 8 60
Large 7 80

What is the cost of hiring a vehicle for 6 people for 3 days?

$18 $80 $180 $240
A B Cc D

The cost of a horse is one-third of the cost of a cow.
Which one of the following statements is true?

A A horse costs three times as much as a cow.
B A horse costs the same as three cows.

C A cow costs four times as much as a horse.
D A cow costs the same as three horses.
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n A newspaper sold 46453 copies today. A small carton holds 6 eggs. A large carton holds 10 eggs.
Yesterday it sold 42879 copies. e F
How many more copies were sold today?
3574 4426 4574 4684
A B C D
Which combination of cartons holds exactly 42 eggs?
n What is the next number in the pattern below?
A 1 small carton and 4 large cartons
0.7,0.07,0.007 D B 2 small cartons and 3 large cartons
A 0.00007 C 3small cartons and 2 large cartons
B 0.0007 D 4 small cartons and 1 large carton
C 0.007
D 7
k13 A set of shuffled cards contains:
e 4 black cards
m A student planted a seed and recorded how the plant grew. e 5 blue cards
The graph shows the height of the plant over the next 70 days. e &red cards
A e 5 yellow cards.
90 One card is selected without looking.
80 What is the chance it will be a black card?
70 1 1 1 a1
Height 60 / 2 4 5 6
(in cm) 50 y 4 A B Cc D
40 /
30 /
20 /’/ m A boy thinks of a number.
10 / He doubles it and then adds 12.
> The result is 38.
0 10 20 30 40 50 60 70 , _
Number of days What number did the boy think of?
What was the height of the plant after 40 days? 7 13 52 88
A B C D
35 cm 45 cm 75 cm 90 cm
A B Cc D
. @ () J
Nl Ml
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m Which calculator shows seventy thousand and seventy? m A scientist measures the temperature at different distances below the Earth’s surface.
This table shows her results.
=1
A (R Distance below the Earth’s
surface (metres) Temperature (°C)
B 10007 Om 20 °C
30m 21 °Q
60 m 22 °C
C 000 90 m 23°C
120 m 24 °C
ulalnlnlnlln
D g What is the temperature at 75 m below the Earth’s surface?
20 °C 22250 22.5°C 23 °C
A B C D
A boy is outside a shop. The shopkeeper is inside the shop.
The boy sees the shopkeeper and waves at her.
e B m What is the value of angle x?
SHOP A 38 52°
.! B 52
P ¢ 78 52°
| o
| D 86 il not to scale
m Two basketball teams played four games against each other.
This graph shows the points scored by the two teams.
90
80 | S e e
70 +— —
60 +—
A 5 c Points 38 I 5 Team 1
30 1— B Team 2
20 |—
10 I - F R—— EN—
0 | I T
Game 1 Game2 Game 3 Game 4
What was the greatest difference in points between the teams in a game?
10 50 65 80
A B C D
— () (3) J
s bl 4 O/
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m A coin weighs 5 grams. E A group of 30 people were surveyed about whether they like fruit and vegetables.
It is made of 75% copper and 25% nickel. The table below shows the results.
How many grams of copper are in the coin? Like vegetables Do not like vegetables
A 0.75grams Like fruit 8 6
B 125 grams Do not like fruit 12 4
@ Guld gams How many people like fruit but do not like vegetables?
D 4.25grams
4 6 8 12
A B C D
These rectangles have the same area.
How many ways are there of cutting this square-based pyramid into two
identical parts?
not to scale
What is the value of x?
6 8 10 24
A B C D
1 2 4 5
m A train departs at 08:30 and reaches its destination at 17:10. A B C D
How long is the train journey?
A 5 hours 20 minutes
B 8 hours 40 minutes
¢ Ohours m Which of these calculations does not equal 717?
D 9 hours 20 minutes A 6+7x(8+9)=
B 6+(7x8)+9=
C 6+7x8+9=
D (6+7x8)+9=
This object is made from 5 cubes of the same size.
What is the total surface area of the object?
A 40 square centimetres
B 88 square centimetres
C 100 square centimetres
D 120 square centimetres 2 cm
. (8) ) J
NS T

Copyright © 2016 Australian Council for Educational Research



i)

5
m Box B can hold eight unit boxes. - The net of a cuboid (rectangular prism) is not complete.
Unit box 4 cm Cc '
2cm| B A o Which shape would complete the net?
1cm 2.cm '
1cm
1cm 2cm 4cm .
How many unit boxes can box C hold? =
4 16 32 64 A
A B C D
B 77757371, ]
A 6.7
B 6.9 . . . .
& 74 m A machine can pump 15 litres of water in one minute.
D 7'2 How long does it take to pump 900 litres of water?
A 4 minutes
B 6 minutes
C 15 minutes
El] whatis 1003 - 172 D 60 minutes
A 986
B 987
C 994 m Which picture shows the reflection of the shapes in the mirror line?
D 996 EEREEY R R
I NN
! SN
Il W
: e
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|\\\l|IIII|IIII|IHI|IHI|IIIE]\\\\jJiIIIIIH|IIlI|IIII|!\\\l\HI|IIIIIHHjHII|II!tE\ HIIIII|HIIIIIII * b
B A b e i e e Sl Ve | A B C D
Which measurement is shown by the arrow?
8.07 cm 8.7 cm 87 cm 870 cm
A B C D
N () ) J
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m The car turns into the second street on the right. ~ __StreetD BE There is a 60% chance of rain today.
On which street will the car be after the turn? e What is another way of expressing a 60% chance?
stree
A streetA ioei B 1 5 3 3
B streetB 3 3 ) i)
A
C streetC __streetA A 5 C D
D streetD 1
g not to scale
E A bag contains 1.025 kilograms of onions, and 1.285 kilograms of potatoes.
E Teachers share 250 books and 350 pencils between the students in Year 6. ,
What is the total mass of the vegetables?
Each student gets the same number of books.
. 2.210 kg 2.031 kg 2.310 kg 2.535 kg
Each student gets the same number of pencils. A B C D
What can be the maximum number of students in Year 67
10 25 35 50
A B C D
This is a timetable for a school holiday programme.
Time Activity
BE] The highest temperature on the surface of the Moon is 100 °C and the lowest 9:30 am — 10:00 am Quiet reading
temperature is =173 °C. 10:00 am — 10:15 am Morning snack
What is the difference between these two temperatures? 10:15 am - 11:00 am Painting
11:00 am — 11:45 am Creative writin
73 °C 127 °C 178 *C 2730 <
A B C b 11:45 am - 1:00 pm Lunch
1:00 pm — 2:00 pm Ball sports
2:00 pm - 3:00 pm Free time
What activity is happening at 10:45 am?
m This scale shows weight in kilograms and grams.
A Morni k
How heavy is the bag of onions? crrnllng snac
B Painting
A 3 kI|OgI’amS and 6 gi’amS C Crea‘tive ert!ng
B 3 kilograms and 60 grams D Lunch
C 3 kilograms and 600 grams
D 4 kilograms and 40 grams
N 0 0 y
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